= ]
Al £ 0Ol & AF S & Al A
0118 20ilah e MEI=S2 D ~ HE=S2
SA: MES2
M A MEY
E©elr THMEEY (chel-&d
- _ = MU
SN -3 S2ARAH) - MFAY - BES O &F 2R Ol AF o8 BlusZ
HES 2 0t 20,658,881 11,654,244 9,004,637
= 12,878,000
) 627,480
& 2,814,000
Al 4,339,401
CaHE 60,000 60,000 0
CHME XY 60,000 60,000 0
Sl=0IBAE EX N 60,000 60,000 0
402 QI2tA=01d 60,000 60,000 0
01 Y2 A=EX 60,000 60,000 0
OA=0IESAI4 &XIdl A& 10,000,000 x64 60,000
SEiotd &4 20,496,145 11,489,483 9,006,662
= 12,878,000
) 627,480
& 2,814,000
Al 4,176,665
Csd dEH=sd 5,338,145 6,366,983 21,028,838
= 4,117,000
) 627,480
Al 593,665
L& MY ofd STEAMY 4,117,000 5,450,000 21,333,000
= 4,117,000
401 AlZHIZ2UHI 4,117,000 5,450,000 21,333,000
= 4,117,000
01 A€ 4,117,000 5,100,000 983,000
OL-SHNHESHE SAY 4,117,000
= 4,117,000
LSS ot=2 A 721,145 616,983 104,162
l 627,480
Al 93,665
401 AlEHI =20 721,145 616,983 104,162
y) 627,480
Al 93,665
01 Al&HI 721,145 616,983 104,162
O-SH=H ot A 721,145
) 627,480
Al 93,665
LSS A2 500,000 300,000 200,000
308 AXHSOIH 100,000 0 100,000
08 JlEt=g= 100,000 0 100,000
=58 RASF SA=sHESA RES 100,000
401 AIEHI 2| 400,000 300,000 100,000
01 A€ 400,000 300,000 100,000
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SN MEH=H D
Hm: MENOHE T4

Sl LEH MEH=S (S &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OBtEE XNESLI AL 23 (BH, S
TAIDEA) 400,000
MENGHE R 15,000,000 5,074,500 9,925,500
= 8,761,000
= 2,800,000
Al 3,439,000
MENSHE S 100,000 70,000 30,000
201 Yer2g| 30,000 0 30,000
01 AtR2elt| 30,000 0 30,000
OMENIEIIPI S B2 30,000
206 M=l 70,000 70,000 0
01 T2l 70,000 70,000 0
OMENGHE R 70,000
I MENSHE DI RIIAY 230,000 2,471,000 A2,241,000
= 161,000
Al 69,000
401 AEHILR ] 230,000 2,471,000 A2,241,000
= 161,000
Al 69,000
01 Al 230,000 2,471,000 ~2,241,000
O0IHY MENGHE JtRI| A 230,000
=2 161,000
Al 69,000
MENGHA (A &S0 22l 200,000 200,000 0
401 AEHILR 200,000 200,000 0
01 Al 200,000 200,000 0
OMENGHE RXI (AL SO 22l 200,000
mOIE GE MM FY| 500,000 300,000 200,000
401 AISHIL L] 500,000 300,000 200,000
01 Al 496,400 300,000 196,400
OXFH, A& LHHE HA 496,400
03 Al& S CHY| 3,600 0 3,600
OXZFH, A& MHB Hu 3,600
HMEA DEO Y MY X 29 5,000 0 5,000
301 RS 5,000 0 5,000
10 SAFAIHIS A 5,000 0 5,000
ODNE LAY ZTEHIF HHLY 5,000
MEHGIE 8O3 HSX 69,000 72,000 A3,000
203 Y=Y 2,000 2,000 0
03 Al =X Q5| 2,000 2,000 0
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SN MEH=H D
Hm: MENOHE T4

2l MEHolE =Xt (etel: =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
OMEiotE L 23 HRFA 2,000
307 QI2t0IA 67,000 70,000 A3,000
02 2ItBAE X 67,000 70,000 23,000
O+HEiotd 2z #sX& 67,000
SXAE Mol X+ == 4,300,000 0 4,300,000
= 3,000,000
L= 1,000,000
Al 300,000
401 Al&HI LSO 4,300,000 0 4,300,000
= 3,000,000
= 1,000,000
Al 300,000
01 Al&H| 4,290,000 0 4,290,000
OEAA THoHAE X7 BH==IHEALS 4,290,000
= 3,000,000
= 1,000,000
Al 290,000
03 AIZ SR04l 10,000 0 10,000
OEHAA THoHRAE X7 BH==IH&EALS 10,000
o & MEHold SR ALY 286,000 0 286,000
= 200,000
Al 86,000
401 Al&HI LR OHYI 286,000 0 286,000
= 200,000
Al 86,000
01 Al&Hl 286,000 0 286,000
O& & MEfotd SRAY 286,000
= 200,000
Al 86,000
SHiE fd5u Jt4 300,000 0 300,000
401 A EHIL 201 300,000 0 300,000
01 Al&HI 300,000 0 300,000
O=tid SF51 It SAt 300,000
d==& 089 2 MY 9,010,000 0 9,010,000
= 5,400,000
= 1,800,000
Al 1,810,000
401 Al&HI LS04I 9,010,000 0 9,010,000
= 5,400,000
& 1,800,000
Al 1,810,000
01 Al&HI 9,000,000 0 9,000,000
Od==d g 2 ZHIAY 9,000,000
= 5,400,000
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SN

X{ ZH -
S = -

e )

HE =2 ot
MEiotd =4
{1 MEfSHE =X2cl

_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
< 1,800,000
Al 1,800,000
03 Al =0 10,000 0 10,000
OFZH DB Y HHIAY 10,000
sta el 158,000 48,000 110,000
= 14,000
Al 144,000
ASHE HHIAY 20,000 20,000 0
401 AlEHIL 2RI 20,000 20,000 0
01 Al&H 20,000 20,000 0
OASHE HHIAY 20,000
SHEHY |XE4 28,000 28,000 0
= 14,000
Al 14,000
401 AlEHIL 2O 28,000 28,000 0
= 14,000
Al 14,000
01 A& 28,000 28,000 0
OBHEMY SX=4 28,000
= 14,000
Al 14,000
OFEXR FX& X4 110,000 0 110,000
401 AlEHIL 2O 110,000 0 110,000
01 A& 110,000 0 110,000
OOFEXT HESX =XE =4 110,000
HHSAAH (ME = D) 85,296 85,680 ~384
22 (MEN=2 D) 85,296 85,680 1384
|2 (M= D) 85,296 85,680 1384
201 Lere gl 67,776 69,480 A1,704
01 At 2l 17,776 19,480 A 1,704
CEIEIES=Y] 9,600
osg+y 1,120
ozl 7,056
02 ZZ2H| 50,000 50,000 0
0ZZRZ L MA 4,166,6609 * 128 50,000
202 01t 14,520 13,200 1,320
01 =UHOiI 14,520 13,200 1,320
ORISR 14,520
203 PRETH| 3,000 3,000 0
04 ENSYYRET| 3,000 3,000 0
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